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Rajaram purchased a certain amount of wheat. If he sold one-fourth of the
wheat at a profit of 12%, then the profit percent he needs to make on the

remaining wheat to make an overall profit of 15% is:

ISR A U [Higd a6 1 715 Wi | afe 39 Th-dIdTs 715 12% D a1y IR §4

fau, A 3U AW T
g

g UR foba1 a1y Ula=rd HHHT a1eU difd o ard Uid=rd 15%

18%
16%
15%

20%
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The ratio of length of two trains is 6 : 5 and the ratio of their speed is 3 : 2 The
ratio of time taken by them to cross a pole is:

&l ¢l &1 Tdlg &1 Ul 6 : 5§ AR 3D dldi DI 3Uld 3 : 2 5, U UId I UR
D T 3D gRI [T 7T GHY DT 3UTd
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A s twice as good as a workman as B. And together, they finish a piece of work
in 20 days. In how many days, will A alone finish the work?

A DI B U B U GNHT 301 5| 3R UHTY, 9 20 {1 § Uh S ddH hR od g |
fopa faAi d, A 3fdbd S GRT B2

30 days
25 days
26 days

28 days
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If all the sides of a square are increased by 20%, then the area is increased by

gfe fodt a1 &I gyt Yormsii § 20% & dfc & Sl o, d &% J Dl
i gl

46%

44%

43%

45%
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If a shopkeeper gives two successive discounts of 20% and 15% on a book
whose marked price is Rs. 850, then what is the selling price of the book?

gfc Uh GhHER U &I UR 20% 3HR 15% & &l AR ¥¢ odl g, oDl
3ifbd Hed 850 3UY g | Y& bl f[dchd Hed &1 g2

X 758

X 287

X 785

X 578
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Gold is 12 times as heavy as aluminum and copper is 5 times as heavy as
aluminum.In what ratio gold and copper should be mixed to get an alloy 8 times

of aluminum.

g, '\UH,HIHHH I ga1d 12Tfneﬁ?W T DI a1 1 5 AT 4RI
S| TgHITH bt 8 T[T EreTg U =+ & (U A 3R HIUR i [ 391 |

ERIEISIEIEIREY

2.1
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Vishal covers a distance of 20 km in 30 min. If he covers half of the distance in
18 min, what should be his speed to cover the remaining distance and
completes the whole journey in 30 min.

{2 30 e § 20 fhdl ®f gt a0 SRl 5| dfc 98 18 e T sireft gt a1 Hral
g, 1 2N g8 7 B & o1y Iqat 71y o gi-1t A1fe T iR Ot @ 3o fire o g
gi-l dig U

50 fdhdl/EeT
55 fhHI/HeT
60 fdhdl/der
65 fdhHi/deT
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Manjeet singh sold an article for 9000 gaining 1/5 of its C.P. Find the gain %.

Hoiid R 4 9000 39U T U a3 sl 3R S bl Hed Bl 1/5 dlH DA ATH%
AT it |

10%

22%

20%

25%
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A cloth was 50 cm broad and 8 cm long. When washed, it was found to have
lost 25% of its length and 14% of its breath. Then the percentage decreased in

area is

U hUS] 50 JHI AIST 3R 8 JH! ddl g | oid 54 EIAT 711, dl SUB| ddlg Bl 25%

3R DI dAlSls BT 14% DH ol TAT1 <l &ABd H Uld=Id S| 2
34.5%
35.5%
36%

35%
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In @ mixture of 60 litres, milk and water are in the ratio 2 : 1. Find the quantity of
water to be added to make the ratio 4 : 3

60 TR & YU, QU SR UM 2: 1 & SUId H § | 4 : 3 P 3{UId & b [T
fPreT S ardl Ot 1 A I1d pifsE |

12 liters

10 liters

15 liters

20 liters
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If the sum of five consecutive even numbers is 40 more than the average of
those numbers, then find the middle number of the series?

gfc grd ShHRTA JH SRATST DT T 34 TRATSHT b 3{1¥d I 40 39D o, dl graal
Dl He T 1A PIfSE?

30

10

20

40
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A cuboidal tank has 48000 liters of water. Find the depth of water in the tank if
length of the tank is 6 m and breadth is 4 m.

ddls 6 HICY IR AISTS 4 F

Uh YIHR ¢d H 48000 cilex UHT g1 ¢ H Ul Pl g5 J1d Doy afe < dl
e B
4 m
1 m3 = 1000 liters
6 m
3 m
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If the radius of a circle made of wire is 14 cm is remolded in the shape of a
square, then find the side of the square.

gfc dR 9§49 g< &1 31 14 it 8, Ol 38 U 91 & 3THR T dad [¢d1 §idl g,

-,

dl 71 bt Yol J1d BIfSR|

14 cm

7/ cm

22 cm

11 cm
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P works thrice as fast as QQ, whereas P and Q together can work four times as
fast as R. If P, Q and R together work on a job, in what ratio should they share

the earnings?

P, Q I i T[T duil & S dRdl g, Sdfd P 3R Q U A1y, R I IR HT doil
HIY R GPhd 5| dlc P, Q 3R R ATDHR Uh D1 B ©, dl 35 (b 391 |
TGl D [GWERT B! d1igu?
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Which of the following number is completely divisible by 47?

FafiRad H 9 @4 i 1 4 I guld: f[ausy g2

97634

47654

83544

31439
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The mode of the data
26, 32, 26, 28, 26, 24, 31, 24 |s:

Sl
26, 32, 26, 28, 26, 24, 31, 24 B 45D o:

28

24

31

26
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If the HCF of two numbers is 6 and their LCM is 120, one such pair of numbers
IS:

afe &l HeATSl BT H.H.U 6 § 3R 34D d.49.9 120 g, Il WA DT Uh JH 53
YDPR G

24, 30
18, 40
12, 60

12, 40
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If the profit made by a merchant on selling 45 m of cloth is equal to the selling
price of 5 m of cloth, then his profit percentage is:

gfe fdt SRl gRT 45 HieX HUST d94 W UILd fhar a1 o4 5 Hick S &
[dehd T & aRIeR B, dl ITD] d1H Ufd2Id o

9.09%

12.5%

11.11%

10%
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At the foot of a mountain the elevation of 1ts summit
1s 45°. After ascending 2 km towards the mountain,
upon an incline of 30° the elevation changes to
60°. Find the height of the mountain.

fhdl J81g & fITeR &1 39 UK 9 3199 (U]
45°%, 30°% Fh1d T TBIS W 2 forH. w5 =
1S 319 0T ISART 60° Bl ST &, T TBTE
h1 S A HIfSQ)

(@) /3 +1 (b) /3 +2

(©) 24/3 42 d) 3
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The shadow of tower becomes 60m longer when the altitude
of the sun changes from 45° to 30”. Then the height of the
tower is-

ZTaY hl BTAT 60 WIS Tat B8 FATAT 8, ST T ohl I+ Sh10T
45° T T=AAHT 30° BT BT ATAT 2| a7 2T hl F=I18 2-

A.20(V/3 +1) m B.24(v/3 +1) m
c.30(vV/3 +1)m p.30(V/3 — 1) m




